3.4 Writing Li E . (Parallel i
Perpendicular)

Slope Intercept Form: Y=mx +5

NEED T ELnow OSED MoSTLY WITL

« slope Predures
- g Wheceqst
Point Slope Form: Yrh= m (X4
Enow
Nreed. o oo USED Most SETEA
. ﬁ-?am‘\'
. Slo?:.

Standard Form: Ax « By=C
oo L
0"/‘] " 1 nower ne(]‘d’(-'/(
X . F,}JJ,,;:} Palq\f

Writ standard form of the equation of the line.
1. parallel to y =@ + 3 and through the point (-2, 3)
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2. parallel to 2y - 3x = 6 and through the point (0, 1) m b/
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3. perpendicular to y = 3x - 2 and passes through (3, 5).
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4. perpendicular to 4x - y = -1 and passes through (4, 3)
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HOMEWORK

Worksheet - HW 3.4 Writing Linear Equations
(Parallel / Perpendicular)




